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INSTRUCTION:

Print out this file and complete the problems. You must do ail the probloms!

1f the probiem i from the text, the seciion nnmber and problem number are in peraniheses

3. {Hechion 9.3 Problem 12

Use o bliwe or black peri or a peneil {ark).
Write yonr solations in the spaces provided. You must show work in arder reevive eredit for a problem s -] |/
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Remeiber that vour homework must be complete, neatly writton and stupled. {

Submit the compietad assygmuient to vour Teaching Assisiant in lab on the due date.
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